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A) 0.428			B) 0.125			C) 0.553			D) 0.809
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A) 0.125			B) 0.500			C) 0.083			D) 0.875
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A) mean: 1.30; standard deviation: 0.44			B) mean: 1.23; standard deviation: 0.44
C) mean: 1.23: standard deviation: 0.66			D) mean: 1.30; standard deviation: 0.32
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2) Find the variance of the binomial distribution for which n = 800 and p = 0.87.
A) 32.54			B) 90.48 			C) 9.51			D) 696
6) In a recent survey, 80% of the community favored building a police station in their neighborhood. If 15 citizens are chosen, what is the mean number favoring the substation?
A) 10				B) 12				C) 15				D) 8
[image: ]
A) mean: 10; standard deviation: 1.26			B) mean: 1.6; standard deviation: 1.26
C) mean: 10: standard deviation: 1.16			D) mean: 1.6; standard deviation: 1.16
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A) 0.058			B) 0.571			C) 0.640			D) 0.184
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A) 0.0144			B) 0.50				C) 0.1056			D) 0.7744
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A)  8100			B) 90				C) 0.123456789		D) 
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2) The random variable x represents the number of cars per household in a town of 1000 households. Find the
probability of randomly selecting a household that has at least one car.

Cars|Households

0 125
1 428
2 256
3 108
4 83
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6) Determine the probability distribution's missing value.
The probability that a tutor sees 0, 1, 2, 3, or 4 students on a given day.

x |oj1]2[3]4
P()| ? |0.15]0.20[0.20[0.25
A)020 B) 050 C) 0.80 D) 10
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8) At a raffle, 10,000 tickets are sold at $10 each for three prizes valued at $4,800, $1,200, and $400. What is the
expected value of one ticket?
A)-$9.36 B) $9.36 C) -$0.64 D) $0.64

9) In a raffle, 1,000 tickets are sold for $2 each. One ticket will be randomly selected and the winner will receive a
laptop computer valued at $1200. What is the expected value for a person that buys one ticket?
A) -$0.80 B) $0.8 C) $1.20 D) -$1.20
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3) The random variable x represents the number of credit cards that adults have along with the corresponding
probabilities. Find the mean and standard deviation.

P

0.68
0.21
0.03
0.01

X
0
1
2
3
4
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4) In a pizza takeout restaurant, the following probability distribution was obtained. The random variable x
represents the number of toppings for a large pizza. Find the mean and standard deviation.

A) mean: 1.14; standard deviation: 1.04 B) mean: 1.54; standard deviation: 1.30
C) mean: 1.30; standard deviation: 2.38 D) mean: 1.30; standard deviation: 1.54
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11) The probability that an individual is left-handed is 0.16. In a class of 10 students, what is the mean and
standard deviation of the number of left-handers in the class?
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5) In a recent survey, 64% of the community favored building a police substation in their neighborhood. If 14
citizens are chosen, find the probability that exactly 8 of them favor the building of the police substation.
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7) A recent survey found that 70% of all adults over 50 wear glasses for driving. In a random sample of 10 adults
over 50, what is the probability that at least six wear glasses?
A) 0.850 B) 0.700 C) 0.200 D) 0.006
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2) Basketball player Chauncey Billups of the Detroit Pistons makes free throw shots 88% of the time. Find the
probability that he misses his first shot and makes the second.
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12) Fifty percent of the people that get mail-order catalogs order something. Find the probability that exactly two
of 10 people getting these catalogs will order something.
A)0.044 B) 0.200 C) 0.001 D) 11.250
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4) A company ships computer components in boxes that contain 10 items. Assume that the probability of a
defective computer component is 0.1. Use the geometric variance to find the variance of defective parts.
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Provide an appropriate response.
1) State whether the variable is discrete or continuous.
The number of cups of coffee sold in a cafeteria during lunch
A) discrete B) continuous
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2) State whether the variable is discrete or continuous.
The height of a player on a basketball team
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A) discrete B) continuous
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1) The random variable x represents the number of cars per household in a town of 1000 households. Find the
probability of randomly selecting a household that has less than two cars.

Cars|Households

0 125
1 428
2 256
3 108
4 83




